Chapter 1. Exercise 5.8 (a)

[ANX)UBNX]=(ANX)UBNX)
Pr. m

= (AnX)n(BNX)

= (AUX)N(BUX)

= [(AUX)NBIU[AUX)NX]

= [BNAUX)IUXN(AUX)]

= [BNAUX)IUXNA) UKXNX)]
= [BN(AUX)]UXNA)

= XNA)UBN@AUX)

= (ANX)U[BN(AUX)]

= [(ANX)UBIN[(ANX)U(AUX)]

= [ANX)UBIN(AUX) since ANXCSACAUX.

(ANX)U(BNX)
= [(ANX)UBIN[ANX)UX]
= [(ANX)UBINIXUANX)]
= [(ANX)UBIN[(XUA)N(XUX)]
= [(ANX)UBIN(XUA)

= [(ANX)UBINAUX)
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[(ANX)U(BNXI]=(ANX)U(BNX)

Pr. m

= (AnX)n(BNX)

= (AUX)N(BUX)

= [(AUX)NBIU[AUX)NX]

= [BNAUX)IUXN(AUX)

= [(BNA)UBNX)IUXNA) UKXNX)]
= [(BNA)U(BNX)]U((XNA)

= BNAU[BNX)U(KXNA)

= (BNX)U(XNA) since BNAC (BN X) U (XNA). For the proof see below.
= (BNX)U(ANX)

= (ANX)U(BNX)

BNA

=(BNU)NA U is the universal set.

=[BN(XUX)]NA

=[(BNX)U(BNX)]NA
=AN[(BNX)U(BNX)]
=[AN(BNX)JU[AN(BNX)]
=[AN(BNX)JU[AN(XNB)
=[AN(BNX)]U[ANX) NB]
=[AN(BNX)]U[XNA)NB]

C (BNX)U(XNA)
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